6-7H% PP ERBERHE _ SH6E3H 8AD)
§ o e  Ru& - —ﬁﬁ A A B c D E F G
= = B [ii] FanE | BEKE | A=AS | EEEE REES HALA SCLE
|mER—T 10g | /3 | 6/4
Cehtbz—7F 20g | 68/10 | 6/11 :
_tr,«bl,a)z—j’ 5¢ | 6/17 | 6/18 /\
a . ROARY—R 25g | 6/20 | 6/21
1 ﬁﬁfﬁﬁﬁ?giwbwz—j 10g | 6/24 | 8/25 , $ﬁ§o
' : A REOR-TF : 5z | 6/25} 6/24
LARET /BT DA—T 5¢ | 7/10| 7/9 :
Fr_RYOR—TF 5¢ | 7712 7/11 ]
FTELA 5g. | 7/16 | 7/8

5 [BHAD—X
2X2X2cm

AL—
R
BROIEI—AM T
Al —

6/12
6/26

6/13
6/27

2l B

2120

HHEE
2250

5 |BLbFERA

LedLEDFA
ARFranws
FSA4HhL—
T—R—E% :
WAITADFIZSE
RFtanvs
T—R—IT

25g
20g
20g"
28g
25g
20g

6/17
6/20 | 6/21
6/24 1 6/25
7/3 | 7/4
7/8 | 7/16
7/16 ] 7/8

6/18

FALI—F
a2 —
1190

BEEELL
1. SemA




( 7EEFHEE )

SH6E3H 8Ef($)

6-7A% —BYWERBRRHE
[&] , - 1 — o _ERH A B G D E F G
| & & WAL B Bl ® | & | vome | mexe | ames | wwsme | sens | v | sz
AR al 55 ' -
_ Ly e R i
1 [n—ve0e [moiTLy—2 e RES N I it . (e )

HLZ1Lr 25¢

AL LT

Ceptbr—T

—Ax

EE JL—v

6/10

6/11

=
S0(RE4R)

HigaiE 70g

Thi 60g

BOTIAR—AHEE

A
ASEM

12X 7.5emD AV Tz

6/25

6/24

£

118

H- 2 E
,1 38({f$E)

i ’

105

11

HLI1L
B¥nftE 30

HLOLEVRKE .

7/3

7/4

46 (F4R)

pEFIR
890

)

- EREEED
13 E%i AUbit oh E RS AR 1@ | 7/9 | 7/10
. _ FEBREAT




WEWE KR

6-78% 4H6E3H 8SHE)
£E5% B 4 A2 3% B R L T 2 5 81 Rt
1 H:6/11
. BELEME BRDY—R! . :6/10
AERE ﬁg’é‘ﬁﬁ%ﬁOg ANl FME | R6SA | 62 | 62 - ®:7/4
| m:7/5
' ' - | H:6/21
AERS HBLLEfF40g  |FFU1RUTY B E R6.4F8 62H 62M 7:6/20
apas  [POEWE % = o= : | &0 ' H:6/18
RieR% 30s EOEME {%2 éf’};k%im "B¥E&& |([R5.118| 40M 40H 7.6/17
. GIYSIES et s EE 1. | #.6/27
dmEKE SEAE ZIFESY S5 FILE . THEHE R6.2H | 700M 700H :6/26
-AE SM7EIAETHEA , .




